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Q.1 Choose the correct option in the following questions, mention the correct option in the answerbook.
(1) The ........ method used to obtain optimal solution for Assignment problem.
a) Graphical (b) Hungarian (¢) MODI (d) Simplex

o

(2) The optimal solution for A.P. with size n exist if number of assi gued zero s equal to
(a) m+n-—1 (b) 2n -1 (c)n (d) m

(3) In Assignment Problem the value of decision variable Tij 1Sen.e.

(a) no restriction (b) one or two (¢) vne or zero (d) none of these
(1) If player A plays strategy A; with robability 1. then he plays the game with ......... strategy.
(4, ) th p 2
(a) pure (b) mixed (c) optimal (d) none of them

(5) The saddle point in the game is agy then player B's pure strategy is........

(a) one (h) two (c) three (d) none of these

(6) What happens when maximin and minimax values of the game arc same?

(a) No solution exists (b) Selution is mixed
(c¢) Saddle point exists (d) None of these
(7) In sequencing if smallest time for a job belongs to machine-I then that job has to placed......... of
the sequence.
() a the middle (b) at the starting (c) at the end (d) none of these

(8) In sequencing the time involved in moving jobs from one machine to another is.............
(a) negligible (b) positive number (c) significant (d) none of these

(9) Activity which does not require any resources or time is called.......activity.
(a) predecessor (b) successor (¢) dummy (d) none of these

(10) ... event represents beginning of more than onc activities.
(a) burst (b) merge (c) merge (d) none of these

Q.2 Attempt any Ten:

(1) What is an assignment problem?

(2) What is an unbalanced assignment problem? How to resolve it?
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(3) Solve the assignment problem B3 9l ‘
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(1) Define: (i) Pure strategy (i) Mixed strategy

(5) Explain the method to obtain saddle point ol a game if it exists.
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(6) Find optimum strategy and value of the game for

Player

(7) Explain what do you mean by a sequencing problem.
(8) Give the optimum job sequence for the following sequencing problem

|‘~Io of jobs [ 11273 _4|
:Ma.chmelifl 836!
| Machine II | 6 '3[7 2|

Player B

B, | By

A

A 0]

Ay [ -1

(9) Define: ( ) Total Elapsed time (ii) Idle time on a Machine.
(10) Define (i) Predecessor Activity (ii) Successor activity
(11) Define t“o types of events used in network analysis.
(12) Explain the error of Dangling in network diagram representation.
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(a) Solve the assignment problem: | B | 18337 9 | 31
Cl44]25|24721
D [23]30 28] 14
(b) Solve the following assignment problem:
T IV V
1(11{10 185 |9
214113112119 6
3153142714
40151817 0 |12
5/10[11719| 6 |14
OR
Q.3
(¢) Write rule to draw minimum number of line.
(d) Solve the following assignment problem:
_ |AB]C]DTE]
I 292,71
6| 8[776]1
nmid4/6{5{31
Vidl2/7(3[1
VIis[3]9]5|1
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game:

Player A

(b) Solve the following game using the principle of dominance:

Player A

OR

Player B
B By | By
A 245
LTI 7 ¢
[As[4]p 6]
Player B
By By | By
(A [ 8538
Ay 1 8165 |
A 71215
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a) Find the range of values of p and ¢ which will render the entry (2,2) a saddle point for the following
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Q.4

d) Solve the following game using the principle of dominance: [04]
Player B .
' B1 By | By | By
PI&yerAlAl|_5i 3 I’I—zﬂ{l
A4 57546
: (A ]-4[ 270 -5
(d) Solve the following game using graphical method [06]
Player B
__ [IIH!IU[HV‘
v L[ TTZT 273 [
HaymAiH 4:|3_ 5 Ili‘

Q.5
(a) Give Johnsons algorithm for determining the optimal sequence for processing n jobs through two [04]
machines.

(b) Find the sequence by Johnson’s method that minimizes the total elapsed time and idle time for [06]
machine A and machine B required to complete the following jobs:

No. of jobs [ 112734576
Machine A [ 483767 5]
 Machine B 6 (37728 4]
OR

Q.5
(c) Find the sequence by Johnson’s method that minimizes the total elapsed time and idle time for [04]
machine A and machine B required to complete the following jobs:
| No.ofjobs  [1]2[3[4] 5]
| Time on Machine A[5  1/9(3]10
Time on Machine B | 2 [6[7[8] 4 |
(d) Find the sequence that minimizes the total elapsed time required to complete the following tasks:  [06)
[ Tasks A'BI'C’T)!EIF'H
|—Timé0nma,chinnl_ 38T 4_‘ 987
| Time on machine IT | 4 | 3 | (5 114(3
Time on machine IIT | 6 | 7 | 5 | 11 | 5] 6]12]
Q.6 For the following network diagram obtain the critical path, total float, independent float and free  [10]
float.
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Q.6 A project has the following time schedule: [10]
| Activity [ Time (month) Activity | Time In month | Activity | Time In month |
L1—2 2 3-6 | 8 L 6-9 | 5 |
T 1-3 2 T 3-7 5 7-8 4
1-4 | 1 -6 3 S 7-9 3
ﬁ's 1 T 5-8 1 | )

Construct PERT network and compute total float for each activity and Find Critical path with its
duration.
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